KHSC 02 1SO 6020/2

e

SYSTEMS

Siparis Kodu / Ordering Code

Baglanti Elemani / Connection Element

AMB : Arka Mafsal Baglanti / Back Joint

OMB : On Mafsal Baglanti / Rod Joint

OEB : Orta Eklem Baglanti / Middle Joint Connection
OFB : On Flang Baglanti / Rear Flange Connection
AFB : Arka Flang Baglanti / Front Flange Connection
OAMB  : On Arka Mafsal Baglanti / Front Rear Joint
AB : Ayak Baglanti / Base Connection

-
i e T
olo i1 ole T et
& S L= §
L "l B —%
I _

25 12 14 24 9 5] 40 1/4" 55 M10 x 1,25 54

25 18 18 30 14 5 40 1/4" 55 M14x1,5 54 27
32 14 16 26 M1 5 45 1/4" 6,6 M12 x 1,25 57 33
32 18 18 30 | 14 5 45 1/4" 6,6 M14x15 57 33
32 22 22 34 17 5 45 1/4" 6,6 M16 x 1,5 57 33
40 18 18 1 30 | 14 60 3/8" 11 M14x1,5 74 41
40 22 22 34 17 60 3/8" 1 M16 x 1,5 74 41
40 28 28 @ 42 | 22 60 3/8" 1 M20x 1,5 74 41
50 22 22 34 17 75 1/2" 13,5 M16 x 1,5 76 52
50 28 28 @ 42 | 22 75 1/12" 13,5 M20x 1,5 76 52
50 36 36 50 30 75 12" 13,5 M27 x 2 76 52
63 28 28 | 42 @ 22 90 1/2" 13,5 M20x 1,5 80 65
63 36 36 50 30 90 1/2" 13,5 M27 x 2 80 65
63 45 45 60 @ 36 920 12" 13,5 M33x 2 80 65
80 36 36 50 30 114 3/4" 17,5 M27 x 2 93 83
80 45 45 @ 60 | 36 114 3/4" 17,5 M33 x 2 93 83
80 56 56 @ 72 50 114 3/4" 17,5 M42 x 2 93 83
100 45 45 | 60 @ 36 126 3/4" 17,5 M33x 2 101 97
100 56 56 @ 72 50 126 = 3/4" 17,5 M42 x 2 101 97
100 70 63 | 88 @ 60 126 3/4" 17,5 M48 x 2 101 97
125 56 56 72 @ 50 164 1" 22 M42 x 2 117 126
125 70 63 88 | 60 164 1" 22 M48 x 2 17 126
125 90 85 108 75 164 1" 22 M64 x 3 117 126
160 70 63 | 88 ' 60 198 1" 26 M48 x 2 130 155
160 90 85 108 80 198 1" 26 M64 x 3 130 155
160 110 95 1 1331100 198 1" 26 M80 x 3 130 155
200 90 85 108 80 240  1"1/4 88 M64 x 3 167 190
200 110 95 | 1331 100 240 @ 1"1/4 33 M80 x 3 167 190
200 140 112 163 130 240  1"1/4 6 M100 x 3 167 190

10
10
10
10
12
12
12
15
15
15
18

20
20
20
25
25
25
25*
25%
25*
27
27
27
o7
o7

o7k

Cap / Bore Size (mm)

25-32-40-50-60-80-100-160-200
Mil Gapi / Rod Size (mm)

12-18-25-32- etc.

Strok / Stroke (mm)

20 mm - 1500 mm
Baglanti Elemani / Connection Element

27 10 51 64 6 25 60 131 124

105
105
17
17
17
149
149
149
162
162
162
208
208
208
253
253
253
300
300
300

www.rohhman.com ‘ info@rohhman.com

110
110
110
130
130
130
140
140
140
180
180
180
190
190
190
240
240
240
300
300
300
350
350
350

25
35
35
35
35
35
35
4
4
41
48
48
48
51
51
51
57
57
57
57
57
57
57
57
57
57
57

57

[EIEEEHEEHDE!F]

60
70
70
70
74
74
74
83
83
83
89
89
89
o7
97
o7
107
107
107
111
1M
1M1
13
13
13
125
125
125

131
147
147
147
178
178
178
191
191
191
203
203
203
232
232
232
250
250
250
285
285
285
306
306
306
363
363
363

124
138
138
138
165
165
165
174
174
174
186
186
186
210
210
210
228
228
228
257
257
257
272
272
272
326
326
326





